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1. According to the rules, the width of each

lane in a standard 400m Athletic track must

be invariably :

(A) 1.10

(B) 1.20

(C) 1.22

(D) 1.25

2. From out of the following events identify the

one that is no part of Heptathlon for

women :

(A) 100m sprint

(B) High jump

(C) Javelin throw

(D) Hundred m hurdles

3. Races beyond what distance are not run in

track lanes?

(A) 200m

(B) 400m

(C) 1500m

(D) 800m

4. In most events Athletes are allowed to wear

spiked footwear up to :

(A) Seven spikes

(B) Nine spikes

(C) Thirteen spikes

(D) Eleven spikes

5. While in 200m steeplechase number of

hurdle jumpes is 18 in 3000m steeplechase,

the number is :

(A) 24

(B) 28

(C) 32

(D) 36

1. fu;eksa ds vuqlkj ekud 400ehVj ,FkysfVd
VªSd esa izR;sd ysu dh pkSM+kbZ vfuok;Z :i ls
gksuh pkfg, %

(A) 1.10

(B) 1.20

(C) 1.22

(D) 1.25

2. fuEufyf[kr esa ls ml ?kVuk dh igpku djsa
tks efgykvksa ds fy, gsIVkFkykWu dk fgLlk
ugha gS %
(A) 100ehVj fLizaV
(B) Å¡ph Nykax
(C) Hkkyk Qsad
(D) lkS ehVj ck/kk

3. VSªd ysu esa fdruh nwjh ls vf/kd nkSM+ ugha
yxkbZ tkrh gS\
(A) 200ehVj
(B) 400ehVj
(C) 1500ehVj
(D) 800ehVj

4. vf/kdka'k vk;kstuksa esa ,FkyhVksa dks -------
rd uqdhys twrs iguus dh vuqefr gksrh gSA
(A) lkr LikbDl
(B) ukS LikbDl
(C) rsjg LikbDl
(D) X;kjg LikbDl

5. tcfd 200ehVj LVhiypst+ esa ck/kk dwn dh
la[;k 18 gS] 3000ehVj LVhiypst+ esa ck/kk
dwn dh la[;k -------- gS %

(A) 24

(B) 28

(C) 32

(D) 36
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6. In high jump competitions with eight or fewer

Athletes, the number of jumpes each jumper

gets is :

(A) 4

(B) 6

(C) 8

(D) 10

7. The length of passing zone in 4×100m relay

event is :

(A) 30m

(B) 25m

(C) 20m

(D) 15m

8. The number of feathers in a Badminton

shuttle cock should not be less than :

(A) 16

(B) 14

(C) 12

(D) 10

9. Apart from Badminton, the technique called

Flick is also used in :

(A) Tennis

(B) Table tennis

(C) Squash

(D) Golf

10. According to the rule, the half time interval

in an official Basketball match shall be :

(A) 10min

(B) 20min

(C) 15min

(D) Half an hour

6. vkB ;k mlls de ,FkyhVksa okyh Åaph dwn
izfr;ksfxrkvksa esa] izR;sd tEij dks fdruh

Nykax feyrh gS\

(A) 4

(B) 6

(C) 8

(D) 10

7. 4×100ehVj fjys bosaV esa ikflax tksu dh

yackbZ gS\

(A) 30ehVj

(B) 25ehVj

(C) 20ehVj

(D) 15ehVj

8. cSMfeaVu 'kVy dkWd esa ia[kksa dh la[;k ----

ls de ugha gksuh pkfg,A

(A) 16

(B) 14

(C) 12

(D) 10

9. cSMfeaVu ds vykok f¶yd uked rduhd

dk Hkh iz;ksx fd;k tkrk gS %

(A) Vsful esa

(B) Vscy Vsful esa

(C) LDok'k esa

(D) xksYQ+ esa

10. fu;e ds vuqlkj vkf/kdkfjd ckLdsVckWy

eSp esa gkQ Vkbe varjky gksxk %

(A) 10feuV

(B) 20feuV

(C) 15feuV

(D) vk/kk ?kaVk
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11. When a Basketball player commits five foul

he must be substituted within :

(A) 10seconds

(B) 20seconds

(C) 30seconds

(D) No seconds

12. All free throws in Basketball must be

attempted within :

(A) 10seconds

(B) 7seconds

(C) 5seconds

(D) 3seconds

13. Which of the following Ball situation does

not belong to Cricket?

(A) Wide ball

(B) Held ball

(C) Lost ball

(D) No ball

14. As per Cricket rule book, the two sets of

wicket shall be pitched opposite and parallel

to each  other at a distance of :

(A) 20yard

(B) 22yard

(C) 24yard

(D) 26yard

15. In Cricket wasting time is unfair and results

in :

(A) One run loss

(B) One more ball to bowl

(C) A caution

(D) A yellow card warning

11. tc dksbZ ckLdsVckWy esa ik¡p csbZekuh djrk gS rks

mls ------- esa izfrLFkkfir fd;k tkuk pkfg, %

(A) 10lsdaM

(B) 20lsdaM

(C) 30lsdaM

(D) dksbZ lsdaM ugha

12. ckLdsVckWy esa lHkh Ý+h Fkzks dk iz;kl fd;k

tkuk pkfg, %

(A) 10lsdaM

(B) 7lsdaM

(C) 5lsdaM

(D) 3lsdaM

13. fuEufyf[kr esa ls dkSu&lh xsan dh fLFkfr

fØdsV ls lacaf/kr ugha gS\

(A) okbM ckWy

(B) gsYM ckWy

(C) [kksbZ gqbZ xsan

(D) uks ckWy

14. fØdsV fu;e iqfLrdk ds vuqlkj] fodsV ds

nks lsV ,d nwljs ds foijhr vkSj lekukarj esa

-------- dh nwjh ij fip fd, tk,axsA

(A) 20xt

(B) 22xt

(C) 24xt

(D) 26xt

15. fØdsV esa le; cckZn djuk vuqfpr gS vkSj

bldk ifj.kke gksrk gS %

(A) ,d ju dk uqdlku

(B) xsanckth ds fy, ,d vkSj xsan

(C) ,d lko/kkuh

(D) ,d ihyk dkMZ psrkouh
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16. According to Soccer rule book,

players(except the goal keeper) must not

use the following body parts to play the

ball :

(A) The feet (B) The head

(C) The chest (D) The hands

17. In Football within penalty area, the penalty

spot is marked in front and center of the

midpoint of the goal line at a distance of :

(A) 10yards

(B) 11yards

(C) 12yards

(D) 13yards

18. The soccer goal keeper is not allowed to

control the ball with his hands for more

than :

(A) 10 seconds

(B) 8 seconds

(C) 12 seconds

(D) 6 seconds

19. When throw is made, all opponent must

stand away from the throw-in-point not less

then :

(A) Ten meters

(B) Six meters

(C) Four meters

(D) Two  meters

20. Which of the following Football tournaments

is officially recognized as the national

championship?

(A) AFA shield Football tournament

(B) DCM Football tournament

(C) Subroto cup

(D) Santosh trophy

16. lkWdj :y cqd ds vuqlkj] f[kykfM+;ksa ¼xksy
dhij dks NksM+dj½ dks xsan dks [ksyus ds fy,
'kjhj ds fuEufyf[kr vaxksa dk mi;ksx ugha
djuk pkfg, %
(A) iSj (B) flj

(C) Nkrh (D) gkFk
17. Qq+VckWy esa isuYVh {ks= ds Hkhrj] xksy ykbu

ds e/; fcanq ds lkeus vkSj dsanz esa isuYVh
LikWV dh nwjh ij fpfºur fd;k tkrk gS %
(A) 10xt

(B) 11xt
(C) 12xt

(D) 13xt
18. lkWdj xksydhij dks vius gkFkksa ls xsan dks

---- ls vf/kd le; rd fu;af=r djus dh
vuqefr ugha gSA
(A) nl lsdaM
(B) 8 lsdaM
(C) 12 lsdaM
(D) 6 lsdaM

19. tc Fkzks bu esM gksrk gS] rks lHkh fojksf/k;ksa dks

Fkzks&bu&ikWbaV ls de ugha gksuk pkfg, %

(A) nl ehVj

(B) Ng ehVj

(C) pkj ehVj

(D) nks ehVj

20. fuEufyf[kr esa ls fdl QqVckWy VwukZesaV dks

vf/kdkfjd rkSj ij jk"Vªh; pSafi;uf'ki ds

:i esa ekU;rk izkIr gS\

(A) ,,Q, 'khYM QqVckWy VwukZesaV

(B) Mhlh,e QqVckWy VwukZesaV

(C) lqczrks di

(D) larks"k VªkWQh
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21. The length and width of a standard Basketball

court, according to rules, are :

(A) 26×14m

(B) 28×15m

(C) 26×15m

(D) 30×15m

22. The performance area for floor exercise in

gymnastics, according to rule shall be :

(A) 10m×10m

(B) 12m×12m

(C) 15m×15m

(D) 16m×16m

23. In women Gymnastics events, rhythmic

exercise performed by an individual

Gymnast last :

(A) 30 to 60 seconds

(B) 40 to 70 seconds

(C) 60 to 90 seconds

(D) 70 to 100 seconds

24. In men's artistic Gymnastic events, height

of the rings above mat is :

(A) 8 feet

(B) 8 feet 2 inch

(C) 8 feet 4 inch

(D) 8 feet 6 inch

25. In gymnastics competition, the number of

judges to evaluate routine is :

(A) 1

(B) 3

(C) 5

(D) 7

21. fu;eksa ds vuqlkj ,d ekud ckLdsVckWy

dksVZ dh yackbZ vkSj pkSM+kbZ gS %

(A) 26×14ehVj

(B) 28×15ehVj

(C) 26×15ehVj

(D) 30×15ehVj

22. fteukfLVDl esa Q'kZ O;k;ke ds fy, fu;ekuqlkj

izn'kZu {ks= gksxk %

(A) 10m×10m

(B) 12m×12m

(C) 15m×15m

(D) 16m×16m

23. efgyk fteukfLVDl Li/kkZvksa esa] ,d O;fDrxr

fteukLV }kjk fd;k x;k y;c) O;k;ke

vafre gksrk gS %

(A) 30 ls 60 lsdaM

(B) 40 ls 70 lsdaM

(C) 60 ls 90 lsdaM

(D) 70 ls 100 lsdaM

24. iq#"kksa dh dykRed fteukfLVDl Li/kkZvksa esa]

pVkbZ ds Åij ds NYys dh ÅapkbZ gS %

(A) 8 QhV

(B) 8 QhV 2 bap

(C) 8 QhV 4 bap

(D) 8 QhV 6 bap

25. fteukfLVDl izfr;ksfxrk esa] fnup;kZ dk

ewY;kadu djus okys fu.kkZ;dksa dh la[;k gS %

(A) 1

(B) 3

(C) 5

(D) 7
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26. In handball, Players can throw, catch, stop,

push or hit the ball but no player may hold it

for a maximum of :

(A) 7 seconds

(B) 5 seconds

(C) 3 seconds

(D) Unspecific time

27. In kabaddi match, the opposite of the

raider(player) is technically known as :

(A) Opponent

(B) Defender

(C) Anti

(D) Receiver

28. In a Kabbadi match, the side that scores a

LONA shall score :

(A) one extra point of LONA

(B) two extra point of LONA

(C) three extra point of LONA

(D) no extra point of LONA

29. During a match, each Kabaddi team in each

half, shall be allowed two timeouts of :

(A) 1 minute each

(B) 15 seconds each

(C) 30 seconds each

(D) One and half minute each

30. At the start of the game in Football is play

only when it :

(A) Is kicked from the center spot

(B) Roll  outs from the center circle

(C) Travels the distance of its own

circumference forward

(D) Is kicked at least five yard to any

distance

26. gSaMckWy esa] f[kykM+h xsan dks Qsad] idM+] jksd]
/kDdk ;k fgV dj ldrs gSa ysfdu dksbZ Hkh
f[kykM+h bls vf/kd ls vf/kd le; rd jksd
dj ugha j[k ldrk gS %
(A) 7 lsdaM
(B) 5 lsdaM
(C) 3 lsdaM
(D) fof'k"V le;

27. dcìh eSp esa] jsMj ¼f[kykM+h½ ds foijhr
rduhdh :i ls tkuk tkrk gS %
(A) izfr}a}h
(B) j{kd
(C) ,aVh
(D) fjlhoj

28. ,d dcìh eSp esa] tks i{k LONA ¼yksuk½
Ldksj djsxk og Ldksj djsxk %
(A) yksuk dk ,d vfrfjDr fcanq
(B) yksuk ds nks vfrfjDr fcanq
(C) yksuk ds rhu vfrfjDr fcanq
(D) yksuk dk dksbZ vfrfjDr fcanq ugha

29. ,d eSp ds nkSjku] izR;sd dcìh Vhe dks
izR;sd gkQ esa nks VkbevkmV dh vuqefr nh
tk,xh %
(A) 1 feuV izR;sd
(B) 15 lsdaM izR;sd
(C) 30 lsdaM izR;sd
(D) Ms<+ feuV izR;sd

30. QqVckWy esa [ksy dh 'kq#vkr esa rHkh [ksyk
tkrk gS tc %
(A) dsanz LFkku ls ykr ekjh gS
(B) lsaVj ldZy ls jksy vkmV
(C) viuh ifjf/k dh nwjh dks vkxs c<+krk

gS
(D) fdlh Hkh nwjh ij de ls de ik¡p

xt dh nwjh ij ykr ekjh gS
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31. In kho-kho, the central squares occupied

by the Chasers measure :

(A) 20cm×20cm

(B) 40cm×40cm

(C) 25cm×25cm

(D) 30cm×35cm

32. As per rule book of kho-kho team shall consist

of :

(A) 12 players, a coach, a manager

(B) 15 players, a coach, a manager and

an assistant coach

(C) A physiologist/doctor, a manager

and 15 players.

(D) A coach, a physiotherapy a doctor

a manager and 12 players

33. In lawn tennis, the score deuce signifies?

(A) 0-0

(B) 15-15

(C) 30-30

(D) 40-40

34. While laying out the court, it is mandatory to

leave a minimum of free space behind back

line and beyond side line measuring :

(A) 18 feet and 10 feet respectively

(B) 16 feet and 8 feet respectively

(C) 14 feet and 6 feet respectively

(D) 12 feet and 4 feet respectively

35. In Tennis Dink is style in which most balls

are hit very :

(A) Low and soft

(B) Hard and low

(C) High and hard

(D) High and soft

31. [kks&[kks esa] pst+jksa ds dCts okys dsanzh; oxZ
ekirs gSa %
(A) 20cm×20cm

(B) 40cm×40cm

(C) 25cm×25cm

(D) 30cm×35cm

32. [kks&[kks dh fu;e iqfLrdk ds vuqlkj Vhe esa
fuEu 'kkfey gksaxs %
(A) 12 f[kykM+h] ,d dksp] ,d izca/kd
(B) 15 f[kykM+h] ,d dksp] ,d eSustj

vkSj ,d lgk;d dksp
(C) ,d fQft;ksykWftLV@MkWDVj] ,d

eSustj vkSj 15 f[kykM+h
(D) ,d dksp] ,d fQft;ksFksjsih] ,d

MkWDVj] ,d eSustj vkSj 12 f[kykM+h
33. ykWu Vsful esa] Ldksj MÓwl n'kkZrk gS %

(A) 0-0

(B) 15-15

(C) 30-30

(D) 40-40

34. dksVZ dks fcNkrs le;] cSd ykbu ds ihNs vkSj
lkbM ykbu ekius ls ijs de ls de [kkyh
txg NksM+uk vfuok;Z gS %
(A) Øe'k% 18 QhV vkSj 10 QhV
(B) Øe'k% 16 QhV vkSj 8 QhV
(C) Øe'k% 14 QhV vkSj 6 QhV
(D) Øe'k% 12 QhV vkSj 4 QhV

35. Vsful esa fMad 'kSyh gS ftlesa vf/kdka'k xsansa
cgqr fgV gksrh gSa %
(A) de vkSj uje
(B) dfBu vkSj fuEu
(C) mPp vkSj dBksj

(D) mPp vkSj uje
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36. From out of the following sports, name the

one which is initially called Mintonette :

(A) Basketball

(B) Badminton

(C) Volleyball

(D) Baseball

37. Players may hit the Volleyball with :

(A) hands only

(B) hands and arms

(C) head and chest

(D) Any part of their bodies

38. Going by the rule book, each team consist

of 12 players including up to two :

(A) Captains

(B) Liberos

(C) Smashers

(D) Boosters

39. In Volleyball each team has three hits in

addition to :

(A) Blocking

(B) Spiking

(C) Placing

(D) Diving the ball into the net

40. When the blockers in Volleyball have their

hands over the net, is called :

(A) Roof

(B) Cover

(C) Smoke

(D) Shield

36. fuEufyf[kr [ksyksa esa ls ml [ksy dk uke

crkb, ftls 'kq: esa feaVksusV dgk tkrk gS %

(A) ckLdsVckWy

(B) cSMfeaVu

(C) okWyhckWy

(D) cslckWy

37. f[kykM+h okWyhckWy dks fgV dj ldrs gSa %

(A) dsoy gkFk ls

(B) gkFk vkSj ckag ls

(C) flj vkSj Nkrh ls

(D) vius 'kjhj ds fdlh Hkh vax ls

38. fu;e iqfLrdk ds vuqlkj] izR;sd Vhe esa

vf/kdre nks --- lfgr 12 f[kykM+h gksrs gSaA

(A) dIrku

(B) fycjksl

(C) LeS'klZ

(D) cwLVj

39. okWyhckWy esa izR;sd Vhe ds vfrfjDr rhu

fgV gSa %

(A) vo#)

(B) Likbfdax

(C) yxkuk

(D) xsan dks usV esa Mqckuk

40. tc okWyhckWy esa vojks/kd usV ij viuk gkFk

j[krs gSa] rks mls dgk tkrk gS %

(A) Nr

(B) <duk

(C) /kqvk¡

(D) dop
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41. In Volleyball the term used to described

ones team losing the serve is :

(A) Hand out

(B) Point

(C) Side out

(D) Rotation

42. To look at a point or gaze without blinking

ones eyes :

(A) Dhauti

(B) Neti

(C) Kapalbhati

(D) Trataka

43. There are two main types of Neti kriya :

(A) Jal neti and ghrita neti

(B) Sutra neti and milk neti

(C) Jal neti and sutra neti

(D) Sutra neti and madhu neti

44. During the practice of which Asana, the spine

tilts backward?

(A) Bhujangasana

(B) Vajrasana

(C) Paschimottanasana

(D) Dhanurasana

45. How many times does the Heart beats in

one minutes?

(A) 72

(B) 75

(C) 70

(D) 71

41. okWyhckWy esa lfoZl gkjus okyh Vhe ds fy,

bLrseky fd;k tkus okyk 'kCn gS %

(A) gkFk nsuk

(B) fcanq

(C) ckgj dh vksj

(D) jksVs'ku

42. fcuk iyd >idk, fdlh fcanq ;k VdVdh

dks ns[kuk %

(A) /kkSfr

(B) usfr

(C) dikyHkkfr

(D) =kVd

43. usfr fØ;k ds nks eq[; izdkj gSa %

(A) ty usfr vkSj ?k̀r usfr

(B) lw= usfr vkSj nw/k usfr

(C) ty usfr vkSj lw= usfr

(D) lw= usfr vkSj e/kq usfr

44. fdl vklu ds vH;kl ds nkSjku jh<+ dh

gìh ihNs dh vksj >qd tkrh gS\

(A) Hkqtaxklu

(B) otzklu

(C) if'peksÙkkuklu

(D) /kuqjklu

45. ,d feuV esa fny fdruh ckj /kM+drk gS\

(A) 72

(B) 75

(C) 70

(D) 71
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46. Meaning of Yoga is :

(A) Add

(B) Substract

(C) Multiply

(D) None of the above

47. The practice of Shat karmas is advised :

(A) Just before asana

(B) Before Asana and Pranayama

(C) Only before Pranayama

(D) After Asana and Pranayama

48. What are the numbers of Sath karmas?

(A) 6

(B) 10

(C) 7

(D) 11

49. What are the main Therapeutic benefits of

Kapalbhati practice?

(A) Removes kapha related disorders

(B) Removes bile related disorders

(C) To remove vata related disorder

(D) To remove the disorders related to

vata, pitta

50. The word Kapalbhati has bhati :

(A) Aura

(B) Light

(C) Kanti

(D) All of the above

46. ;ksx dk vFkZ gS %

(A) tksM+sa

(B) ?kVk,¡

(C) xq.kk

(D) mijksDr esa ls dksbZ ugha

47. "kV deksZa ds vH;kl dh lykg nh tkrh gS %

(A) vklu ds Bhd igys

(B) vklu vkSj izk.kk;ke ls igys

(C) dsoy izk.kk;ke ls igys

(D) vklu vkSj izk.kk;ke ds ckn

48. lr~ deksZa dh la[;k D;k gS\

(A) 6

(B) 10

(C) 7

(D) 11

49. dikyHkkfr vH;kl ds eq[; fpfdRldh; ykHk

D;k gSa\

(A) dQ dks nwj djus ds fy,

(B) fiÙk lEcfU/kr fodkj dks nwj djuk

(C) okr fu'kku dks nwj djus ds fy,

(D) okr] fiÙk ls nwjorhZ ds fy,

50. dikyHkkfr 'kCn esa Hkkfr gS %

(A) vkSj

(B) jks'kuh

(C) dkafrvks

(D) Åij ds lHkh
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51. Which of the following programme does not

prescribe the specific exercise load?

(A) Motor fitness programme

(B) Health related fitness programme

(C) Performance related fitness

programme

(D) General fitness programme

52. The greatest benefit of exercise are

achieved only when the body is adequetly

and appropriately :

(A) Warmed up

(B) Worked out

(C) Stimulated

(D) Rested

53. No proper rest is given to the Athlete

between exercise session may get into a

state of chronic fatigue, athletically known

as :

(A) Over-straining

(B) Overstressing

(C) Over-tiring

(D) Over-training

54. When endurance exercise is discontinued

for sometime relatively greater loss is

noticed in :

(A) Muscle strength

(B) Muscle tone

(C) Muscular endurance

(D) Muscle

55. For a common man fitness is virtually a/an :

(A) Attitude of mind

(B) Sine qua non of good living

(C) Physical requirement

(D) A matter of interest

51. fuEufyf[kr esa ls dkSu&lk dk;ZØe fof'k"V
O;k;ke Hkkj fu/kkZfjr ugha djrk gS\

(A) eksVj fQVusl dk;ZØe

(B) LokLF; lEcU/kh fQVusl dk;ZØe

(C) izn'kZu lEcU/kh fQVusl dk;ZØe

(D) lkekU; fQVusl dk;ZØe

52. O;k;ke dk lcls cM+k ykHk rHkh izkIr gksrk gS
tc 'kjhj i;kZIr :i ls vkSj mfpr :i ls
gks %
(A) xje fd;k gqvk
(B) gy fudkyk
(C) izsfjr
(D) foJke fd;k

53. O;k;ke l= ds chp ,FkyhV dks dksbZ mfpr
vkjke ugha fn;k tkrk gS] iqjkuh Fkdku dh
fLFkfr esa vk ldrk gS] ftls ,FkysfVd :i ls
tkuk tkrk gS %
(A) vf/kd ruko
(B) vR;f/kd ruko
(C) vf/kd Fkdk nsus okyk
(D) ls vf/kd izf'k{k.k

54. tc /khjt O;k;ke dqN le; ds fy, can dj
fn;k tkrk gS rks vis{kkd`r vf/kd uqdlku
ns[kk tkrk gS %
(A) ekalisf'k;ksa dh rkdr
(B) ekalis'kh Vksu
(C) ekalis'kh; et+cwrh
(D) ek¡lisf'k;k¡

55. ,d vke vkneh ds fy, fQVusl oLrqr%
,d@,d gS %
(A) eu dh euksof̀Ùk
(B) vPNs thou dh vfuok;Z 'krZ
(C) 'kkjhfjd vko';drk
(D) #fp dk fo"k;
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56. Exercise programme become Monotonous

and boring when they carry :

(A) Orinality

(B) Novelty

(C) Variety

(D) Adaptability

57. For developing aerobic endurance, an

excellent activity is :

(A) Golf

(B) Cycling

(C) Jungle hike

(D) Tennis

58. Training is an Universal Phenomenon and

its aim for an Athlete is :

(A) Through conditioning

(B) Fitness improvement

(C) Muscle toining

(D) Enhancing performance

59. Strength in all forms, directly related to the

ability of our :

(A) Muscles

(B) Nerves

(C) Limbs

(D) Blood vessels

60. When a muscle contracts isometricilly, its :

(A) Length does not changes

(B) Length changes

(C) Angle of joint changes

(D) Girth manifest changes

56. O;k;ke dk;ZØe uhjl vkSj mckÅ gks tkrk

gS tc os ys tkrs gSa %

(A) vksfjuSfyVh

(B) uohurk

(C) fofo/krk

(D) vuqdwyu'khyrk

57. ,jksfcd lgu'kfDr fodflr djus ds fy,]

,d mRd`"V xfrfof/k gS %

(A) xksYQ+

(B) lkbfdy pykuk

(C) taxy gkbd

(D) Vsful

58. izf'k{k.k ,d lkoZHkkSfed ?kVuk gS vkSj ,d

,FkyhV ds fy, bldk mn~ns'; gS %

(A) daMh'kfuax ds ek/;e ls

(B) fQVusl lq/kkj

(C) ekalisf'k;ksa dh Vksfuax

(D) izn'kZu esa o`f)

59. lHkh :iksa esa rkdr lh/ks gekjh {kerk ls

lEcfU/kr gS %

(A) ekalisf'k;ksa ls

(B) raf=dk ls

(C) vax ls

(D) jDr okfgdkvksa ls

60. tc ,d is'kh lefer :i ls fldqM+rh gS] rks
mldk %
(A) yEckbZ ugha cnyrh
(B) yEckbZZ esa ifjorZu
(C) la;qDr ifjorZu dk dks.k

(D) ifjf/k izdV ifjorZu
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61. Isometric exercise are generally applied

in such sports as require :

(A) Minimum strength

(B) Partial strength

(C) Moderate strength

(D) Maximum strength

62. Through which of the following methods do

strength-gains largely come?

(A) Speed training

(B) Partial strength

(C) Moderate strength

(D) Maximum strength

63. From following sports, identify the one

which is known as multi-sprint event :

(A) Badminton

(B) Cricket

(C) Soccer

(D) Table-tennis

64. Which of the following Athletic events

involves long-term muscular endurance?

(A) Pole vault

(B) Long jump

(C) 400m hurdles

(D) Marathon race

65. In continuous training while the intensity of

workout is kept comparatively low, the

duration is kept  :

(A) The same

(B) Higher

(C) Longer

(D) Varying

61. vkblksesfVªd O;k;ke vkerkSj ij ,sls [ksyksa esa

ykxw gksrs gSa ftudh vko';drk gksrh gS %

(A) U;wure rkdr

(B) vkaf'kd rkdr

(C) e/;e 'kfDr

(D) vf/kdre 'kfDr

62. fuEufyf[kr esa ls fdl fof/k ls 'kfDr&ykHk
eq[;r% izkIr gksrk gS\

(A) xfr izf'k{k.k

(B) vkaf'kd rkdr

(C) e/;e 'kfDr

(D) vf/kdre 'kfDr
63. fuEufyf[kr [ksyksa esa ls ml [ksy dh igpku

dhft, ftls cgq&fLizaV ?kVuk ds :i esa tkuk
tkrk gS %

(A) cSMfeaVu

(B) fØdsV

(C) QqVckWy

(D) Vscy Vsful
64. fuEufyf[kr esa ls fdl ,FkysfVd ?kVuk esa

nh?kZdkfyd is'kh; lgu'kfDr 'kkfey gS\

(A) ck¡l dwn

(B) yEch dwn

(C) 400ehVj ck/kk nkSM+

(D) eSjkFku nkSM+
65. fujarj izf'k{k.k esa tcfd dljr dh rhozrk

rqyukRed :i ls de j[kh tkrh gS] vof/k
j[kh tkrh gS %

(A) ;g ogh

(B) mPprj

(C) yacs le; rd

(D) ifjorZuh;
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66. By all means speed is determined factor

in :

(A) precision sports

(B) power sports

(C) explosive sports

(D) endurance sports

67. Fartlek,  which means speed play is an

excellent device of Stimulating?

(A) Muscular strength

(B) Strength endurance

(C) Muscle power

(D) Absolute sports

68. When speed of a sprinting Athlete is

constant, his or her velocity or acceleration

is :

(A) Zero

(B) Unpredictable

(C) Unbelievable

(D) Impossible to know

69. Aerobic fitness is best achieved  through :

(A) Swimming

(B) Circuit training

(C) Short sprints

(D) Long distance running

70. Active flexibility refers to :

(A) Muscular stretch without assistance

(B) Muscular stretch with assistance

(C) Stretching at maximum range

(D) None of the above

66. gj rjg ls xfr fu/kkZfjr dkjd gS %

(A) lVhd [ksy

(B) ikoj LiksV~lZ

(C) foLQksVd [ksy

(D) /khjt [ksy

67. QkVZysd] ftldk vFkZ gS LihM Iys mÙkstd dk
,d mRd`"V midj.k gS %

(A) 'kkjhfjd rkdr

(B) rkdr lgu'kfDr

(C) ckgqcy

(D) iw.kZ [ksy
68. tc ,d fLizafVax ,FkyhV dh xfr fLFkj gksrh

gS] rks mldk osx ;k Roj.k gksrk gS %

(A) 'kwU;

(B) vizR;kf'kr

(C) vfo'oluh;

(D) tkuuk vlaHko gS

69. ,jksfcd fQVusl ds ek/;e ls lcls vPNk
gkfly fd;k tkrk gS %
(A) rSjkdh

(B) ifjiFk izf'k{k.k

(C) y?kq fLizaV

(D) yach nwjh dh nkSM+
70. lfØ; yphysiu dks lanfHkZr djrk gS %

(A) lgk;rk ds fcuk is'kh; f[kapko

(B) lgk;rk ls is'kh; f[kapko

(C) vf/kdre lhek ij [khapuk

(D) mijksDr esa ls dksbZ Hkh ugha
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71. QkVZysd izf'k{k.k lcls igys fdlds }kjk
rS;kj vkSj viuk;k x;k Fkk\

(A) vesfjdk

(B) LohMu

(C) baxySaM

(D) fLoV~t+jySaM

72. LihM Iys dks ------- ds :i esa Hkh tkuk
tkrk gSA

(A) otu izf'k{k.k

(B) ncko izf'k{k.k

(C) QkVZysd izf'k{k.k

(D) e/;karj izf'k{k.k

73. QkVZysd izf'k{k.k djus dk lcls vPNk ekSle

gS %

(A) jsflax lhtu

(B) laØe.k vof/k

(C) izfr;ksfxrk vof/k

(D) ekSle ds ckn ;k igys

74. QkVZysd izf'k{k.k dk ewy fl)kar gS %

(A) varfj{k esa fHkUurk

(B) xfr esa fHkUurk

(C) vof/k esa fHkUurk

(D) txg esa fHkUurk

75. fuf"Ø; yphykiu fdlds dkj.k gksrk gS\

(A) is'kh; lgk;d

(B) ckgjh enn

(C) rkdr esa o`f)

(D) u rks (A) vkSj (B)

71. Fartlek training was first devised and

adopted by :

(A) USA

(B) Sweden

(C) England

(D) Switzerland

72. Speed play is also known as :

(A) weight training

(B) pressure training

(C) fartlek training

(D) interval training

73. The best season of doing Fartlek training

is :

(A) racing season

(B) transition period

(C) competition period

(D) off season

74. Basic principle of Fartlek training is :

(A) variation in space

(B) variation in pace

(C) variation in duration

(D) variation in place

75. Passive flexibility is due to :

(A) muscular assistant

(B) external help

(C) increase  in strength

(D) neither (a) and (b)
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76. xfr dk la;kstu ugha gS %

(A) vf/kdre xfr

(B) foLQksVd 'kfDr

(C) iqujko`fRr

(D) xfr lgu'kfDr

77. fuEufyf[kr esa ls dkSu yhoj ugha gS\

(A) pkdw

(B) dSaph

(C) >wyk

(D) csy ØSad

78. uV ØSdj ds dke djus esa fuEu essa ls fdl

izdkj dk mi;ksx fd;k tkrk gS\

(A) d{kk 1 yhoj

(B) d{kk 2 yhoj

(C) d{kk 3 yhoj

(D) mijksDr esa ls dksbZ Hkh ugha

79. ikbyj ,d mnkgj.k gS %

(A) d{kk 3 yhoj

(B) d{kk 2 yhoj

(C) d{kk 4 yhoj

(D) d{kk 1 yhoj

80. varjky izf'k{k.k ds fy, vPNk gS %

(A) ekSle ds ckn ;k igys

(B) chp ekSle

(C) izfr;ksfxrk vof/k

(D) mijksDr esa ls dksbZ Hkh ugha

76. Speed is not a combination of :

(A) Maximum speed

(B) Explosive strength

(C) Repetitions

(D) Speed endurance

77. Which of the following is not a lever :

(A) knife

(B) scissors

(C) see-saw

(D) bell crank

78. Which of the following type is used in

working of the Nut cracker ?

(A) class 1 lever

(B) class 2 lever

(C) class 3 lever

(D) none of the above

79. Piler is an example of :

(A) class 3 lever

(B) class 2 lever

(C) class 4 lever

(D) class 1 lever

80. Interval training is good for :

(A) off season

(B) mid-season

(C) competition period

(D) none of the above
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81. The schedule of Interval training are

prepared :

(A) annually

(B) weekly

(C) monthly

(D) quarterly

82. Who invented the method of Weight

training?

(A) Aristotle

(B) Herbert Spencer

(C) Fredrick Yahn

(D) Morgan and Adamson

83. Interval training is used for the development

of :

(A) Flexibility

(B) Agility

(C) Explosive strength

(D) Endurance

84. If the sum of all forces acting on a body is

zero, it may be concluded that the body :

(A) Must be in equilibrium

(B) May be in equilibrium

(C) May be in equilibrium provided that

force are concurrent

(D) May be in equilibrium provided that

force are parallel

85. When a body is subjected two forces, the

body will be in equilibrium if the two forces

are :

(A) Collinear equal and act in the same

direction

(B) Collinear unequal and opposite

(C) Non Collinear equal and opposite

(D) Collinear, equal and opposite

81. varjky izf'k{k.k dh vuqlwph rS;kj dh tkrh
gS %
(A) izfro"kZ
(B) lkIrkfgd
(C) ekfld
(D) =Sekfld

82. Hkkj izf'k{k.k dh fof/k dk vkfo"dkj fdlus
fd;k\
(A) vjLrw
(B) gcZVZ Lisalj
(C) Ýs+fMªd ;kUgks
(D) ekWxZu vkSj ,Melu

83. varjky izf'k{k.k dk iz;ksx fdlds fodkl ds
fy, fd;k tkrk gS\
(A) Flexibility yphysiu ds
(B) piyrk ds
(C) foLQksVd rkdr ds
(D) lgu'khyrk ds

84. ;fn fdlh fiaM ij dk;Z djus okys lHkh cyksa
dk ;ksx 'kwU; gS] rks ;g fu"d"kZ fudkyk tk
ldrk gS fd fiaM %
(A) larqyu esa gksuk pkfg,
(B) larqyu esa gks ldrk gS
(C) larqyu esa gks ldrk gS c'krsZ fd cy

leorhZ gks
(D) larqyu esa gks ldrk gS c'krsZ fd cy

lekukarj gks
85. tc ,d fiaM nks cyksa ds v/khu gksrk gS] rks

'kjhj larqyu esa gksxk ;fn nksuksa cy gSa %

(A) lejs[k cjkcj vkSj ,d gh fn'kk esa
dk;Z djsa

(B) lejs[kh; vleku vkSj foijhr

(C) vlajs[kh; cjkcj vkSj foijhr

(D) lejs[k] cjkcj vkSj foijhr
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86. ________ Friction is the force of friction

experienced by the body when it is at rest.

(A) Dynamic

(B) Static

(C) Sliding

(D) Rolling

87. ________ friction is the force of friction

experience by a body when it is motion.

(A) Dynamic

(B) Sliding

(C) Rolling

(D) Static

88. Height of the antenna in Volleyball is :

(A) 1.80m

(B) 1.60m

(C) 1.40m

(D) 1.20m

89. Height of the Volleyball net for men is :

(A) 2.40m

(B) 2.41m

(C) 2.42m

(D) 2.43m

90. Height of the Volleyball net for women is :

(A) 2.40m

(B) 2.41m

(C) 2.42m

(D) 2.24m

86. ---------- ?k"kZ.k 'kjhj }kjk vuqHko fd;k

tkus okyk ?k"kZ.k cy gS tc og vkjke ij

gksrk gSA

(A) xfr'khy

(B) fLFkj

(C) jiV

(D) jksfyax

87. --------- ?k"kZ.k fdlh fiaM }kjk xfr ds

nkSjku ?k"kZ.k vuqHko dk cy gSA

(A) xfr'khy

(B) jiV

(C) jksfyax

(D) fLFkj

88. okWyhckWy esa ,aVhuk dh ÅapkbZ gksrh gS %

(A) 1.80ehVj

(B) 1.60ehVj

(C) 1.40ehVj

(D) 1.20ehVj

89. iq#"kksa ds fy, okWyhckWy usV dh ÅapkbZ gksrh gS

%

(A) 2.40ehVj

(B) 2.41ehVj

(C) 2.42ehVj

(D) 2.43ehVj

90. efgykvksa ds fy, okWyhckWy usV dh ÅapkbZ

fdruh gksrh gS\

(A) 2.40ehVj

(B) 2.41ehVj

(C) 2.42ehVj

(D) 2.24ehVj
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91. Rotation in Volleyball takes place in :

(A) Clock wise

(B) Anticlockwise

(C) Both (A) and (B)

(D) Zig-zag direction

92. Weight of the Volleyball is :

(A) 260-280 gms

(B) 260-280 oz

(C) 280-300 gms

(D) 300-320 gms

93. How many substitute are there in the game

of Basketball, in one team?

(A) 4

(B) 5

(C) 6

(D) 7

94. Distance of Marathon race is :

(A) 43.195 km

(B) 42.195 km

(C) 41.185 km

(D) 40.165 km

95. What is the width of lines in Athletic?

(A) 1.22cm

(B) 5cm

(C) 4cm

(D) 7cm

91. okWyhckWy esa ?kw.kZu gksrk gS %

(A) ?kM+h ds vuqlkj

(B) okek ozr

(C) nksuksa (A) vkSj (B)

(D) ft+x&tS+x fn'kk

92. okWyhckWy dk Hkkj gksrk gS %

(A) 260-280 xzke

(B) 260-280 vkSal

(C) 280-300 xzke

(D) 300-320 xzke

93. ckLdsVckWy ds [ksy esa ,d Vhe esa fdrus

fodYi gksrs gSa\

(A) 4

(B) 5

(C) 6

(D) 7

94. eSjkFku nkSM+ dh nwjh gS %

(A) 43.195 fdeh

(B) 42.195 fdeh

(C) 41.185 fdeh

(D) 40.165 fdeh

95. ,FkysfVDl esa ykbuksa dh pkSM+kbZ fdruh gksrh

gS\

(A) 1.22 lseh

(B) 5 lseh

(C) 4 lseh

(D) 7 lseh
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96. Isometric is the method in which muscles

length is :

(A) Constant

(B) Shorten

(C) Lengthens

(D) None of the above

97. An Efficient Coach is he, who :

(A) Tells

(B) Tells and demonstrate

(C) Tells, demonstrate and explain

(D) Tells, demonstrate, explain and

inspires

98. What is the weight of the football?

(A) 14-16 oz

(B) 16 to 18 oz

(C) 18-20 oz

(D) 20-22 oz

99. What is the duration of Football match :

(A) 45-10-45 (min)

(B) 40-10-40 (min)

(C) 35-10-35 (min)

(D) 45-45 (min)

100. How many referees are required for the

Football match?

(A) 4

(B) 3

(C) 2

(D) 1

96. vkblksesfVªd og fof/k gS ftlesa ekalisf'k;ksa

dh yackbZ ------- gksrh gSA

(A) fu;r

(B) NksVk

(C) yack

(D) mijksDr esa ls dksbZ ugha

97. ,d dq'ky dksp og gS] tks %

(A) dgrk gS

(B) crkrk gS vkSj iznf'kZr djrk gS

(C) crkrk gS] iznf'kZr djrk gS vkSj

le>krk gS

(D) crkrk gS] iznf'kZr djrk gS] le>krk

gS vkSj izsfjr djrk gS

98. QqVckWy dk otu fdruk gksrk gS\

(A) 14-16 vkSal

(B) 16 ls 18 vkSal

(C) 18-20 vkSal

(D) 20-22 vkSal

99. QqVckWy eSp dh vof/k D;k gS\

(A) 45-10-45  ¼feuV½

(B) 40-10-40  ¼feuV½

(C) 35-10-35  ¼feuV½

(D) 45-45  ¼feuV½

100. QqVckWy eSp ds fy, fdrus jsQjh dh

vko';drk gksrh gS\

(A) 4

(B) 3

(C) 2

(D) 1
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booklet are printed properly. If there is any
discrepancy in the question Booklet, then
after showing it to the invigilator, get another
question Booklet of the same series.

mnkgj.k %

iz'u %

iz'u 1

iz'u 2

iz'u 3

4. izR;sd iz'u ds vad leku gSaA vkids ftrus mÙkj
lgh gksaxs] mUgha ds vuqlkj vad iznku fd;s tk;saxsA

5. lHkh mÙkj dsoy vks0,e0vkj0 mÙkj&i=d
(OMR Answer Sheet) ij gh fn;s tkus gSaA
mÙkj&i=d esa fu/kkZfjr LFkku ds vykok vU;=
dgha ij fn;k x;k mÙkj ekU; ugha gksxkA

6. vks0,e0vkj0 mÙkj&i=d (OMR Answer

Sheet) ij dqN Hkh fy[kus ls iwoZ mlesa fn;s x;s
lHkh vuqns'kksa dks lko/kkuhiwoZd i<+ fy;k tk;sA

7. ijh{kk lekfIr ds mijkUr ijh{kkFkhZ d{k fujh{kd

dks viuh OMR Answer Sheet miyC/k djkus

ds ckn gh ijh{kk d{k ls izLFkku djsaA ijh{kkFkhZ

vius lkFk iz'u&iqfLrdk ys tk ldrs gSaA

8. fuxsfVo ekfdZax ugha gSA

9. dksbZ Hkh jQ dk;Z] iz'u&iqfLrdk esa] jQ&dk;Z ds
fy, fn, [kkyh ist ij gh fd;k tkuk pkfg,A

10. ijh{kk&d{k esa ykWx&cqd] dSYdqysVj] istj rFkk lsY;qyj
Qksu ys tkuk rFkk mldk mi;ksx djuk oftZr gSA

11. iz'u ds fgUnh ,oa vaxzsth :ikUrj.k esa fHkUurk gksus

dh n'kk esa iz'u dk vaxzsth :ikUrj.k gh ekU;

gksxkA
egRoiw.kZ% iz'uiqfLrdk [kksyus ij izFker% tk¡p dj
ns[k ysa fd iz'uiqfLrdk ds lHkh i`"B HkyhHkk¡fr Nis
gq, gS aA ;fn iz'uiqfLrdk es a dk sb Z deh gk s] rk s
d{kfujh{kd dk s fn[kkdj mlh fljht dh nwljh
iz'uiqfLrdk izkIr dj ys aA
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